C. Y. Yeung (AL Chemistry)

F6 AL Chemistry (Tutorial 19)

Name: _________________
Class: ________ (   )

Date: __________

1.
The partition coefficient of solid X between two immiscible liquids A and B is 0.15.  If 6g of solid X were dissolved in 100cm3 of A and extracted with 100cm3 of B, what mass of solid X would remain in liquid A?

2.
5.0g of an organic compound X are dissolved in 100cm3 of water.  The partition coefficient of X in ether and water is 10.  Calculate the mass of X extracted out by


(a)
300 cm3 of ether


(b)
3 successive portions of 100 cm3 of ether

3.
50cm3 of 1.5M ammonia solution were shaken with 50cm3 of trichloromethane in a separating funnel.  After allowing the layers to settle, 20cm3 of the trichloromethane layer were withdrawn and titrated with 0.05M hydrochloric acid.  22.9cm3 of the acid were required for neutralization.  Find the partition coefficient of ammonia between water and trichloromethane at the temperature of the experiment.

4.
The partition coefficient of iodine between tetrachloromethane and water is 70.0 at room temperature.

(a)
What weight of iodine would remain in the water if 2.00g of iodine were shaken with 100.0cm3 of water and 40.0cm3 of tetrachloromethane?

(b)
What weight of iodine would remain in the water if the tetrachloromethane were used in two separate 20.0cm3 portions?
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